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2% + 4x

X+ 15%° + 68x + 84

24x> — 67x> — 51x+ 108

9% + 8lx

6x° + 71x° + 165x + 108

=Rt ESEas

X+ 3x> — 16x— 48

10x° — 47x% + 72x — 36

X + 8> — 5x + 36

5¢5 + 19%% — 30x

X + 7% — 8lx— 567
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2x2 + 4x
2x(x + 2)

X+ 15x% + 68x + 84
(x+ 2)(x+ 6)(x+ 7)

24x3 ) 67)62 —51x+ 108
(3x+ 4)(x— 3)(8x — 9)

9x2 + 8l1x
9x(x + 9)

6x° + 71x% + 165x + 108
2x+ 3)(x + 9)3x + 4)

X+ 3x" — 16x— 48
(ct 4)Cc 3)x = 4)

10x3 B 47)C2 +72x— 36
(v )= 2)2¢~3)

X+ 8x% = 5x+ 36
&+ 96 —x+4)

5% + 194 — 30x
x(x + 5)(5x — 6)

X+ 7% — 8lx— 567
(x— 9+ T)(x+9)
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